CLASS 9

LINEAR EQUATION IN TWO VARIABLES

SOLUTION OF LINEAR EQUATION IN TWO VARIABLES

EXERCISE

Check the following value of x & y are solution of equation 9x - 8y = 72 or not
1 (0,9 (i) (0,-9)
(i) (- 8, 0) (iv) (+8,0)

) 1) o (33)

Find the value of k in equation 2x + ky = 6 if (-2, 2) is a solution.
Find value of p if (4, -4) is a solution of x - py = 8.

Check which of the following are solutions of the equation 2x - y = 6 and which are

not:
(1 @3,0) (ii) (0, 6)
(iii) (2, -2) (iv) (V3,0

ofs-g

Ifx=-1,y = 2 is a solution of the equation 3x + 4y =k, find the value of k.

Find the value of A, if x=—-A andy = g is a solution of the equation x + 4y - 7 = 0.

Ifx=20 +1andy = a - 1is a solution of the equation 2x - 3y + 5 = 0, find the

value of .

Find the value of x for which y = 20 is a solution of the equation 5x + 20y = 200.
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